Algebra 1
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WORKSHEET 7-7B

Simplify each difference.
1) (6k — 8k%) — (34> + 8k)

A) —11k* — 10k B) —11k* - 5k

C) —11k* -2k D) —8k* — 10k
3) (2+7n) - (4 + 8n?)

A) 6n* — 10 B) 2n* -2

C) 2n* - 10 D) -n* -2

5) (2k + 4k*) — (2k + 2k*)
A) 2k B) 2k* +k
C) 2k* + 7k D) —2k* + 7k

7 (5v+2v°) = (1+7v* + 8v)
A) =5V +v-1
B) -5V —=3v—1
C) =5V +5v-3
D) -5V} +v-3

9) (8 —4x*) = (3x> — 4+ 5x%)
A) 9x* —3x° +12
B) —9x*—3x* +4
C) —9x* —5x° +2
D) —-9x* - 5x° +4

11) (8 —2n° —4n*) - (4 + 2n° — 6n*)
A) 2n* —4n’ + 6+ 5n

B) 2n* —4n’ + 7+ 5n

C) 2n* —4n’ + 4+ 5n

D) 2n* —4n’ + 4
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2) (4x2 - 8x3) - (3x3 - 8x2)
A) —11x% + 12x7
B) —16x° + 12x°
C) —16x° + 16x°
D) —23x° + 16x*

4) (4p® +3p*) - (6p* +4p?)
A) 2p* +2p? B) -3p* +2p?
C) -3p* D) -3p* -4p?

6) (3n2 — 3n4) - (7 +7n* + 5n2)
A) —10n* —=2n* -7
B) —10n* —2n* — 1
C) —10n* +3n* -1
D) —18n* +3n* -1

8) (p°+7)-(4+7p° + p?)
A) —6p° — p* +3
B) —6p° — p* -5
C) —p* - p*-13
D) —6p° — p* - 13

10) (7x2 + x4) - (4x2 +5x*t - 6x3)
A) 3x* +6x° + 3x?
B) —2x* + 6x° +3x?
C) —x* +6x® +3x?
D) —4x* + 6x° + 3x?

12) (46> +4p* —3) = (76* + 3 = 75°)
A) -3b* +116° -6
B) -3b* +5b° + 2
C) -3b* +3b° -6
D) —-3b* +5b° -6
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13) (n4 —5n— Snz) - (Sn +3n* + 3n2)
A) —2n* —8n* — 10n
B) —2n* —8n* - 13n
C) 5n* - 8n* — 13n
D) 11n* —8n* - 13n

15) (4n® - 6n> +4) - (3 — n? — 4n°)
A) 87 —10n* - 4
B) 9n° — 10n* — 4
C) 8n® —5n* — 4
D) 87 —5n* + 1

17) (4p-7-5p> + p*) - (5p+7p* + 8p°)
A) —12p° —T7p*—p-17
B) —12p° —4p* - p-2
C) —-12p°> -7p*-p—6
D) —12p° —4p>—p—-6

19) (3&% + 1+ 7k + 5k) — (6k% — 2> + 4k)
A) 15k = 3k* +k+1
B) 17k° —3k* —k+1
C) 15k = 3k* —k+1
D) 9%° - 3k* +k+1

e

14) (4x° + 6x + 6x*) — (3x* — 8x> + 8x?)
A) 3x* +12x° - 8x? + 6x
B) 3x* +12x° — 14x? + 6x
C) 6x* +12x° — 13x% + 6x
D) 6x* + 12x° — 14x? + 6x

16) (7r2 —2r+5r4—3)—(6r4 —7+r2)
A) — +6rF =2r+4
B) 9" + 6> + 5r + 4
C) =" +6r° +5r+4
D) - +6r* —9r+4

18) (6n° — 5n* — 5n+2n*) = (3n* — 6n° + 8n)
A) =3n* +6n° +2n* - 13n
B) —n* +6n’ +n* - 13n
C) —n* +6n° +2n* — 13n
D) —3n* +6n° — 13n

20) (k3 + 762 + 5k* = 3) — (4k* = 5K% + 8K°)
A) kY =Tk +12K* -2
B) 6k* —7k* +20k* -2
C) k' =7k +12k* -3
D) k* -7k +20k* -2
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